RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL (FY 2003 Department of Health and Human Services Budgets)

RESOI	LUTION	NO.	02-437

1	WHEREAS,	the Tohono O'odham Nation has historically contracted certain functions from the
2		Department of Health and Human Services; and
3	WHEREAS,	the Tohono O'odham Nation has operated and wishes to continue operating a Child
4		Care Program to provide child care services to its young tribal members; and
5	WHEREAS,	the Tohono O'odham Nation has operated and wishes to continue operating a Head
6		Start Program to provide educational, health, mental health and parent involvement
7		services to children, three to five years of age; and
8	WHEREAS,	the Tohono O'odham Nation has operated and wishes to continue operating a Child
9		Welfare Services Program to promote safe and stable families and to provide child
10		welfare services; and
11	WHEREAS,	the Legislative Council has approved Resolution No. 99-059 granting the Executive
12		authorization to submit grant fund application with the condition that if awarded,
13		approval is obtained from the Legislative Council for acceptance of award and
14		approval to expend funds; and
15	WHEREAS,	the Headstart grant requires a 10% match, which was approved through Resolution
16		No. 02-427; and
17	WHEREAS,	the Title IV-B, Subparts 1 & 2 grant require a 25% match, which the Nation matches
18		through the P.L. 93-638 master contract, specifically the Family Preservation
19		Program, as authorized by P.L. 93-638; and
20	WHEREAS,	the Executive Branch developed and obtained committee approval of the following
21		budgets as attached and incorporated by this reference, to be effective October 01,
22		2002 through September 30, 2003 and request authorization to expend funds:
23		1. FY 2003 CCDF Mandatory Administration - \$61,221.13 + \$8,754.62 (IDC) =
24		\$69,975.75.
25		2. FY 2003 CCDF Mandatory Program - \$573,519.86 + \$27,620.39 (IDC) = \$601,140.25.
26		3. FY 2003 CCDF Discretionary Administration - \$72,131.16 + \$10,314.76 (IDC) =
27		\$82,445.92.
	11	I

	RESOLUTION NO. <u>02-437</u> (FY 2003 Department of Health and Human Services Budgets) Page 2 of 3				
1	4. FY 2003 CCDF Discretionary Program - \$313,445.40 + \$19,120.68 (IDC) =				
2	\$332,566.08.				
3	5. Head Start Program - \$1,263,698.53 + IDC \$180,710.67 = \$1, 444 ,409.20.				
4	6. Head Start Administration - \$87,258.79 + \$12,478.01 = \$99,736.80.				
5	7. Head Start T & TA - \$18,330.00.				
6	8. FY 2002 Title IV-B, Subpart 1 - \$38,365.59 + \$5,355.41 (IDC) = \$43,721.00.				
7	9. FY 2002 Title IV-B, Subpart 2 - \$55,954.55 + \$2,007.45 (IDC) = \$57,962.00.				
8	10. FY 2003 Title IV-B, Subpart 1 - \$38,351.18 + \$5,369.82 (IDC) = \$43,721.00.				
9	0 11. FY 2003 Title IV-B, Subpart 2 - \$55,954.55 + \$2,007.45 (IDC) = \$57,962.00				
10	0 NOW, THEREFORE, BE IT RESOLVED that the Executive Branch is hereby authorized to expend				
11					
12	effective October 01, 2002 through September 30, 2003.				
13					
14	of <u>OCTOBER</u> , 2002 at a meeting at which a quorum was present with a vote of <u>2,417.5</u> FOR; <u>-0-</u>				
15 16	AGAINST; <u>-0-</u> NOT VOTING; and [01] ABSENT, pursuant to the powers vested in the Council by				
17					
18					
19	Stat. 984).				
20					
21	TOHONO O'ODHAM LEGISLATIVE COUNCIL				
22					
23	2 SUULIN NODA LAK				
24	Rita A. Martinez, Legislative Chairwoman				
25					
26	OBday of October , 20 02				
27					
28					
29	ATTEST:				
30					
31	Min lan				
32	Juljanna Saraficio, Acting Legislative Secretary				
33					
34	01 stay of Cotton, 20 02.				
35					
36	Said Resolution was submitted for approval to the office of the Chairman of the Tohono O'Odham				
37	Nation on the DB day of Datober, 20 DD at 10:47 o'clock, A.M.,				
38	Nation on the day of to beat, 20 at 10:47 o'clock,M., pursuant to the provisions of Section 5 of Article VII of the Constitution and will become effective				
39	upon his approval or upon his failure to either approve or disapprove it within 48 hours of				
	submittal.				

RESOLUTION NO. 02-437 (FY 2003 Department of Health and Human Services Budgets) Page 3 of 3 **TOHONO O'ODHAM LEGISLATIVE COUNCIL** Rita A. Martinez, Legislative Chairwoman on the 3nd day of October, 20 02 APPROVED at <u>2:07</u>0'clock, <u>M</u>.M. **] DISAPPROVED** EDWARD D. MANUEL, Chairman **TOHONO O'ODHAM NATION** Returned to the Legislative Secretary on the <u>13th</u> day of October , 20 02, at 12:50 o'clock, 1.M. m Julianna Saraficio, Acting Legislative Secretary

ACTION: FY 2003 DEPARTMENT OF HEALTH AND HUMAN SERVICES BUDGETS

MOVED: COUNCILMAN DAVID GARCIA

SECOND: COUNCILMAN ALBERT MANUEL, JR.

DATE: OCTOBER 01, 2002

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
BABOQUIVARI	1. FRANCES MIGUEL	158.85	х			
317.7	() 2. FRANCES G. ANTONE (Lucilda Norris-Valenzuela)	158.85	x			
CHUKUT KUK	1. KENNETH WILLIAMS (Juanita Homer)	124.05	х			
248.1	2. DAVID GARCIA (Mary Audrey Juan)	124.05	x			
GU ACHI	1. CAMILLUS LOPEZ	115.35	х			
230.7	() 2. ALEX J. RAMON (Jerome Joaquin)	115.35	x			
GU VO	1. FERN SALCIDO	94.15	х			
188.3	2. EMILIO LEWIS (Michael Flores)	94.15	x			
HICKIWAN	1. SHIRLEY MOLINA	83.65	х			
167.3	() 2. SANDRA ORTEGA ()	83.65	х			
PISINEMO	1. BARBARA SALVICIO	87.35	x			
174.7	(Alex Antone) 2. PATRICIA CRUZ (Johnson Jose)	87.35	x			
SAN LUCY	1. ALBERT MANUEL, JR. (John W. Lawson, Sr.)	80.35	х			
160.7	2. GLORIA RAMIREZ ()	80.35	x			
SAN XAVIER	1. FELICIA NUÑEZ	92.35	х			
184.7	2. DENNIS RAMON ()	92.35	x			
SCHUK TOAK	1. MARY FLORES	72.25	x			
144.5	2. AMBROSE ENCINAS (Frances B. Conde(Francisco))	72.25	x			x
SELLS	1. DENNIS E. JOSE	208.05	x			
416.1	() 2. EVELYN JUAN ()	208.05	x			
SIF OIDAK	1. ISIDRO LOPEZ	92.35	x			
184.7	2. RITA MARTINEZ (Nicholas Jose)	92.35	x			
	TOTAL	2,417.5	2,417.5	-0-	-0-	[01]

**PASSED VOTES